[1] ZEEHDOBES

(ST7TEIAX)
1 BAOREEH
X% % & EORE
IR tr A 88E szEmz =5 S
SHTE 160 4 ) 177 44 SHITE 614
SH6E 169 2 (1) 191 50 SHI6F 582
iR -9 2 ( -1) -14 -6 R 32
EimE -5.3 1000  ( -1000 ) -7.3 -12.0 RS 55
* () NIX24K5fEBB%E. SOBURNIEETHE (BA)
2 RBRTEHRDIER F: (O)REEEHETRH
(1) BERMAIDOIFEE
Z\ O ®ME 2\ (50%)
X5 B M & © BEEFEOSLEM 1A (50%)
SHTE 2 (1 2 (1)
SH6E 1 ) 1 )
(2) BEEADOFEE
& B x = nms TEHE | o s e
=g 9= 545 1918 | zokoma st H#h5E BiRE = =mRE | BHESF
SHITE 1 1 1 2 (2
SH6E 1 ) 1 ) 1 )
O E& 1. A(25%) 5598 1TAREED25%. EBIEED100%) O EEHELENDSLEE O0A0%)
(3) EHHIR- BRI DIEE
. X X R O XEA 2.X (50%)
AN z5 &5 — — % 25 E 5 A -
X% XEH | 8T | £Hh—D B # ) ETEHIGE O BEEEEDSLIES 1 A (50%)
SHTE 2 (1) 1 1) 1
SHI6E 2 (2
¥ REAICEREAMEEED,
4) BHRERRORE
Sl #H E O Axt®E 2.X (509%)
AN S
25 | MIFE mwE [ mavm | Bz [ zom | Tk | N F | o smEmzossAnE
SH1E 2 (1) 1 1 (1) 1A (50%)
FHI6E 1 1
(5) REERIDIEE OY-t ILERDEE
B oW ZOH S ZHHE —HE EEIES EEES
=5 #h $7h =pcny Fea =yl Bz A% Zott BR | k& | TH
SHTE 2 (1) 2 (1 1 1
SH6E 1 ) 1 )
O #Hf71rh 2A(50%). SbEE 1A (50%) O EEHBELXEDIHHTH  1.A(50%)
(6) FERIDIFE
K4 BRE | 20 | somtc | somft | aomft | somsk | sk | S5 | 10% | 7o | 80%
SHTE 1 1 1 1
SH6E 1 1
O 65mLlE 2A(50%)
N F1EBF0ERAGH
= o wESTE | — B £ 2 B kBB ER
B EEMB | BEBER | ymx | fpr [ ErrE | GATEE | 2o7HR | DRTEE | ZiEE | 20E
SHT1E 1 1 1
SH6E 1
N H17E - O HIAFREE. RETFERIZLEZLD 244
X% Z ot DER * o © BEFSAN—HE1 HEE LT EH 28
SHT1E 1
SH6E 1




[1]—2 RE=HOBHR (EHE)

(ST7TEIAX)
1 BAOREEH
) N
IR L o & 885 srEmz
SHITE 160 4 ) 177 44
SH64E 169 2 (1) 191 50
R -9 2 ( -1) -14 -6
BRE -5.3 1000  ( -1000 ) -1.3 -12.0
* () NIX24K5fEBB%E. SOBURNIEETHE (BA)
2 BEEEHROBRR () ANEEEHETA
(1) BERMADOESE
N O & 15\ (34.1%)
X5 B M & © BREBHEDSLER 21 (20%)
SHTE 29 (8) 15 (2)
SHI6E 32 (18) 18  (6)
(2) ERADEESE
& B x = nms TEHE | o s e
d o= 542 | 1912 |zomomE| it Moy e % ®mEE | EESE
SHTE 9 (2 1 7 (1) 17 () 6 (2 4 (2) 16 (3) 1
SHI6E 10 (4) 7 (4 17 (8) 9 (6) 5 (3) 18  (6) 1 )
O E& 17 N(38.6%) 5598 IANEREEED205%, EEEHED52.9%) O EHEBEEHFEDS>HEE 3AB0%)
Q) ERER-BREIDEEFE
o . . R O XEA 25\ (56.8%)
\ 25 &5 — — 4 X g E > o -
X% XEH | 8T | £Hh—D B # ) ETEHIGE O BREFHENSLTEA A (80%)
SHTE 25 (8) 3 4 11 (2) 1
SHI6E 29 (13) 6 (4 4 (2 10 (4) 1 )
¥ REAICEREAMEEED,
@) BHREMNOEEE
E R O Axt®E 11.N(25%)
AN S
25 | ANEA mmm T aacm | B 2 | Tok |tk | I B O e aym
SHTE 11 @) 11 (3) 14 (3) 2 3 3 4\ (40%)
SHI6E 11 (@) 11 (6) 15  (6) 3 () 6 (2 4 (2
(5) RERDEIESE OV-M I ERADHE
B oW ZOH S —HE —HE EEIES EEES
=5 #h $7h =pcny Fea =yl Bz A% Zott BR | k& | TH
SHTE 9 (4 2 6 1 ) 21 (5) 5 26
SH6E 9 (6) 2 (1) 7 (2 6 (2 15  (6) 11 (7) 24 2
O #HfTh  11A(25%). SHEEE 4A(36.4%) © EHEEHEDILLHITH 4\ (40%)
6) FWADEESE
Rs | BRE | 20 | jompc | somit | aomft | soms | eskm | S5 | 105 | 7o~ | 80%
SHTE 3 6 2 4 10 9 2 1 1 6
SHI6E 3 8 4 6 2 3 8 5 3 8
O 65l E 10A(22.7%)
() BEBERIBIIDE1LEENERAIGEH)
= o wESTE | — B £ 2 B kBB ER
B EEMB | BEBER | ymx | fpr [ ErrE | GATEE | 2o7HR | DRTEE | ZiEE | 20E
SHT1E 3 5 2 3 11 2 1
S H6E 2 1 5 8 11 2 2 1
N H17E - O HIAFREE. RETFERIZLEZLD 1444
X% Z ot DER * o O EEFHOILEMNSAN N~ LBEELLEH o
SHT1E 11
SHI6E 13




[2] ZBEROFE

(FF7TEIAR)
X 7 EEEHR ) SEHR)
[HTE SH6E B | SFE TH6E | BB
X 4 2 2 160 169 -9
& 2 1 1 43 50 -7
il HERUE (%) 50.0 50.0 - 26.9 29.6 -
E % % 1 1 - 52 63 -11
= HERLE (%) 25.0 50.0 - 32.5 37.3 -
oo % % 1 34 43 -9
0595 A (9%) 25.0 - 213 25.4 -
- R % % 2 2 - 66 76 -10
B A -
BRELSERUBE | 00 50.0 100.0 - 123 450 -
HFEREN % % 1 1 25 29 -4
BRLI-FH | #waE%) 25.0 - 15.6 17.2 -
T % 1 1 1 3 -2
RBA BH OB HBRRE (%) 25.0 - 0.6 1.8 -
R % % 1 1 - 5 6 -1
R E R R (%) 25.0 50.0 - 3.1 3.6 -
= . N 2 1 21 20
" BRERERER | e o 50.0 500 - 13.1 11.8 -
_ % % - 50 50 -
E-{ AVl
# L AR HERE (%) - 31.3 29.6 -
= # - 12 13 -1
| EBER R (%) - 75 7.7 -
. % % 1 39 50 -11
]
B R & MR (%) 25.0 - 244 29.6 -
] T — % % 1 1 - 20 33 -13
=S SR
3| AATE AR (%) 25.0 50.0 - 125 19.5 -
x P % % - 20 27 -7
% | B AE IR HERLE (%) - 125 16.0 -
Bics - % % 1 42 31 11
%= [~ 2
| % RETER |00 25.0 - 263 18.3 -
B E 518 % % - 22 21
- —BAELE HARE (%) - 13.8 12.4 -
RERETE & - 8 15 -7
ETERBER HERE (%) - 5.0 8.9 -
Al A B v % - 3 7 -4
xe-BEEE HERE (%) - 1.9 4.1 -
_ il - -
_,[ﬁ/
TA0RR AL (%) - -
. B & & 1 2 -1 43 47 -4
§ (BYESD) AR (%) 25.0 100.0 - 26.9 2738 -
# X ER % 2 2 98 104 -6
4§ | EEAMEESD) HERLE (%) 50.0 - 61.3 61.5 -
| B — i §5z 1 1 12 12 -
R (%) 25.0 - 75 7.1 -
1 REEEASADBRIE. AL LBEENE 1 HBE LGB,
OHBERERIZEIFTE—N LSRR — SREECD
gzl
AR s S5 FHI6E BB | Si&E | SHeE | BRm
TR 2 2 125 130 -5
S—RRLE A 1 1 4 5 o
EERE HERREE (%) 50.0 - 3.2 38 -




[3] BEEDEROHSNR

(SFNTEIAXR)
1 EREZTHROREIRR
VAN
X4 ERERE T % & a85E SEEEE
SHIE 66 2 22 10
SFI64E 76 2 48 24
SR -10 -26 -14
BiEE -13.2 -54.2 -58.3
2 SHREEHOHER F (O )HITFEEFHTHE
(1) B DORIEEE
65~ 70~ 75~ 80 =
X5 )3 745 798 Lk &t
] SH1E 4 3 (1) 2 3 (1) 12 (2)
SH65E 6 9 (1) 5 6 26 (1)
% SHIE 4 1 7 12
SH65E 8 5 2 9 (1) 24 (1)
5 | mAITE 8 4 (N 2 0 ([ 24 2
) SH6E 14 14 (1) 7 15 1| 5 @
B -6 -10 -5 -5 —26
(2) PKEER - RIERID ¥
\ EEES EEES ZEREEHEG EEED HITH -
B3 Bz | AR® RER | ®AT mEE | Ot ;
B | S1E 12 (1) 2 2 1 4 4 19 (1)
il SHI6E 20 8 1 1 4 (1) 7 4 40 (1)
SHIE 2 3 (1) 2 (1) 5 (1)
il SHI6E 2 1 1 1 6 (1) 6 (1) 10 (1)
5 | mHEITE 14 (1) 2 2 1 7 () 6 (M 24 (2
) SH6E 22 9 2 2 4 | 13 | 10 50 (2)
IR -8 O] -9 -3 D] -6 —4 —26
(3) BFEIRIDFEEECAN)
IZﬁ O~|1~ |2~ |3~ |4~ |5~ |6~ |7~ |8~ |9~ (10~ |11~ |12~ |13~ |14~ |15~ |16~ |17~ |18~ |19~ |20~ |21~ |22~ | 23~
SHTE 1 1
SH6E 1 1
IR 1 —1 —1 1
(4) BERRDFEEEE
X5 B A X 7K VN & +
SHTE 3 2 4 4 6 (1) 2 () 3
SI6E 8 14 1| 12 ) 4 6 3 3
B -5 -12 -] -8 (-1) M -1 M
(5) Eﬁiii%ﬁqﬂ-ﬂﬁﬁqﬂlz}a‘lféﬁﬂ%%@E%b\%@ﬁﬁ%
WOEEEFERG
X4 50 m 100m 500m 1 km 2 km 2 km hOE
7 U T U T U T U T U T Mk < BE
SHTE 1
SHI6E 2 (1) 1 1
IR -2 (-1) -1
Q%178
X4 50 m 100m 500m 1 km 2 km 2 km B OE
7 U F U F U F U F U F Mk T
SHTE 3 () 2 2
SH64E 3 ) 3 1 5
B -3 -1 (-1) 3 (W[ -1 1 -5
(6) ‘Eb“"’ﬂéﬁ%%‘@%ﬁ&%ﬂ&"ﬁlﬁ e
A wt H W =
B5 Em [TEBE] E® [Hevm] ok | =@ | O F | B
SHTE 12 (1) 3 8 19 10 1 Q) 53 (2)
SI6E 10 7 7 17 6 3 50
B 2 ()| -4 1 2 4 -2 (1) 3 (2




[4] /NRE-PRE-SEREOEHROHNR

(SF7EIAXR)
1 BRIDEEE
s RE\ vg | 28 | a8 | a5 | 58 | 68 | 78 | 88 | 98 | 108 | 118 | 128 | & &
. % &
PPE e 1 1 2
— . % &
TEE g 1 1
g %t &
AkE algsE 4 1 3 8
&5 XA
ai5E 5 1 5 11
2 BRADIEEER 3 EHDRISE
s L - % 2 MEAH | g B * X * | & + |&as
PPE e 2 PPE ges 1 1 2
TEE g 1 TEE gm 1 1
=S % & =8z % &
AkE algs 4 4 B aigE 2 1 1 2 2 8
L c) 7 4 L 2 2 2 3 2 11
4 EBERORIEES
N BEA | 0~2 | 2~a | a~6 | 6~8 | 8~10 | 10~12|12~14 | 14~16| 16~18| 18~20 | 20~22 | 22~24| & 3
. % &
PPE e 1 1 2
—. % &
TEE g 1 1
g %t &
AkE algsE 3 1 2 2 8
& & X3
ai5E 3 1 1 3 3 11
5 JREERIDIISE LK
K5 | GBS | BE | —RE | —RE | BEE | L. -
X4 Eih | AET | BET | ARt | zAa | ZTT | Ot | & F
. % &
PEE e 2 2
—. % &
TEE g 1 1
g %t &
AkE ags 1 6 1 8
& & X3
ai5E 1 6 4 11
6 BEsEERT-SITHNER
ERA BRERATOER FAT0ER
2| — % |G B |00 & K | - E = Zoit | & &
X4 TRz | Rl | B | ok | oL | PREP | m g | REL | pap |
o B
MFE s 1 1
an B
TEE e 1
e EE
BEE  ges 1 5 1
a5 EF
aigE 1 5 1 3




[5] EEOBIZHITAEHDIER

(RFI7TEIAXR)
GE: OREREEHTAH]
1 EEIBICHITHAEMDFAIKR
X5 B R E K % & 8i5E —
7 7 [snamE
SHTE 34 1 38 9
SH6E 43 47 10
Do -9 1 -9 -1
B R -20.9 -19.1 -10.0
2 EEIBIZHITAEHDIRR
(1) BB 0D F 445 (2) ERRTAK - R T2 B D FE 451
X4 B & ® M X5 XEMR Hh—7 B &% Z Dt
SHTE 20 14 (1) SHTE 20 (1) 2 12
SH6E 30 13 SH6E 24 4 15
R -10 1 ) IR -4 (1) -2 -3
ARERAICERERAZED,
(3) EEREIBI D FAE 5L
X4 0~2 2~4 4~6 6~8 8~10 10~12 12~14 14~16 16~18
SHTE 1 3 4 5 4 5 3
SH6E 1 1 1 7 3 6 6 6 7
B -1 -1 -4 1 -1 -2 -1 -4
X4 18~20 20~22 22~24
SHTE 4 2 3 ()
SH6E 4 1
R 2 2
4) EBRDOFEEMHE
X4 H A X 7K /N & T
SHTE 5 4 4 4 5 3 9 (1)
SH6E 6 14 2 5 6 8 2
B -1 -10 2 -1 -1 -5 7 M
(5) EHFERI B DR EH
HEWmMEE
=5 | AXER T
7 * TEHE | B = 20E | BBL | BEER | 2o
SHTE 4 (1) 4 18 3 4 1
SH6E 3 4 20 9 1 4 2
R 1 ) -2 -6 -1 1 -2




[6] EXAEWMFEROMNR

1 BXRAEMFEROREERR

S5 64
ES) *

& =

(FHM7E3AXR)

BRI
T E | ags | B

Tk
3 Hy

N R
2y — 1 1 -1
ZDfth 5 6 4 4 1
¥ F 5 6 5

T REGRIE. EERAERAE1BBEH LGB,

2:RERRUVAGERL. BERERLVEELEAL

2 EXRERERORR
(1) B3 - BB DR 4K

7

B fil
Bsy 9s %é)@o) Fﬁmgfﬁa 2o | o= %é)ﬁpo)
FHTE 1 1
FHI6E 2 1 1

1B -2 2
+ BEER. BRODEEERUEDESMHER

3
Jm
fmk

)
[
ik

TR &
%

3
fif
)
8
(i

Z D1t

(2) BB DFERBR

E m &
2l xm em 2en w@E =

SHTE 3
64 1 2 1
R

() EHIFR R DRAEIKT

o At = m M| & E @ B M
BE W |EEEE & 3| HEVE
2
2

B ot | ITHY & F Foft
SHTE 1
SH6E 1 1
iR 1

1

(4) BAE R D FEERR

X4 tigE | ® o4 | B E

EHR| 5 ® | @AW
SMIE
SH64E 1 2 2
im

g [E oM
& | WA = M

(5) BERADFEERSR

my |ER|BEQ | BB &4

X 2 1 Al 77| B 8| R2 | TO | x g
/|| | BLFE | E | TEE | AR | TR | 0K

SHTE 1 2 2

SH6E 2 2 1

HE R -2 -1 1 2




[7] RESEXMMBREEREDZAEH

(FM7EIAXR)
1 REZEMAIORBERFEERKRT
e  EEMluT mok BW OME KB N A LE REB HE BNH B % BB A H
& FEEHH 6 2 1 1 3 13
M| S>uxH® 3 1 4
7 % &
g| 86F 7 2 1 1 3 14
& REHH 5 5 3 1 14
M| S>uxH® 3 2 1 6
6 % &
& 8EE 5 5 5 1 16
FEEHY 1 2 -4 -2 2 -1
ﬁ | SLEHT 1 -2 -1 )
w| X &
8GE 2 2 -4 -4 2 -2
2 BEMAIOEESHHEKR
(1) BRI D FE B3
e  EEMluT =k BW OME KB N A LE RB XBE RNE B® BB G
=3 [HTE 5 1 3 9
| SiesE 3 5 2 1 11
® [HTE 1 2 1 4
| SiesE 2 1 3
(2) EARDFEHHK
e  EEMluT mok BW OME KB N A LE REB XB RNEH B % BB G
g S5 1 1
HHN64E
A [HTE
SH6E 3 1 1 6
& [HTE 1 2 3
SH6E 1 1 2
X [ITE 2 2 4
SH6E 1 1
SHTE 2 1 3
SH6E 1 2 3
[ITE
SH6E 1 1 2
+ [ITE 1 1 2
HHN64E
(3) ;BRI D FE 3K
e  EEMluT =k BW OME KB N A LE REB KB RNE B® BB G
B A FHIE 1 1 2
TEE | 46
® & | RWIE 2 1 1 4
THER | a6t 2 1 3
B &% FHIE 2 1 3
TER | a6t 1 1 2
B | REIE
T 8| SwneE
& E| RWIE 1 1
B B | SfneE 1 1
£ 8| FWE 1 1
' B Ses 1 1
Zot | |HIE 1 1 2
DER | SnesE 4 2 1 7




1

[8] BEEERICLHRBEN

A REAULEEENFE1LBEHLL I,
(FFTEIAXR)
BUEEERIZ L DEMD A AR EH R
X & 1R 2H 34 47 58 6 A 78 8H 98 | 10A | 11RA | 12RA | & & |2 |Ea=x
SHTE 1 1 160 0.6
SH6E 1 1 1 3 169 18
P -1 -1 -2 -9 -
2 EREEER(ICKAEHOEER
(1) ZERE (R RO FEH
K4 W | %k | =m | wE | xm | ok | o | mE | &8 |20 'f;‘"g A | B
SHTE 1
65 2 1
(2) EEHAOFKELES
X5 H A X K VN il +
SHTE 1
65 1 2
(3) EFERIDFAE LB
& A E B
N\ —_
5% [ xE [ ou [wen[ wE | B | AE 0w [wem[wE ] & |0 |00
SHTE 1
65 1 2
4) BRI DFEHH
25 | x| o B (wex|wex| P T 2on | ® B
SHTE 1
65 1 2
(5) BHIBRIRI D FEEHH
Axt B =5
Besy Hli |rEme| & = |wavE| zom | BEih o &
SHTE 1
65 2 1
(6) BEERAIDFE 43
EE | zoft | = E| & | HET | B
=5 o8 |omd |wrE| mE | wa | mm | O
SHTE 1
SH65E 3 * EEERICE. ADEEAEREST.
(7) &R DFEH I
X4 204 | 20~ | 25~ | 30%% | 40%% | 50%% | 60~ | 65~ | 70~ | 75~ | 80k
X | 24m% | 29%% f ® 7 64%% | 69m% | 748 | 798% | Wb
SHTE 1
65 1 2
R 1 Il OD S A - 3K
O~ | 2~ | 4~ | 6~ | 8~ | 10~ | 12~ | 14~ | 16~ | 18~ | 20~ | 22~
X5 2 4 6 8 10 12 14 16 18 20 22 2 B B|& M
SHTE 1 1
65 1 1 1 3




[9] SRR \EEHI

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
% % 58 49 53 160
R7 % & 3 1 4
aigE 66 55 56 177
SLEM 14 14 16 44
# % 67 45 57 169
% & 2 2
Ro aigE 74 48 69 191
SLEl 21 10 19 50
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 17 43 R7 30 22 6 25 4 66
R6 119 50 R6 29 24 9 29 3 76
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 34 4 3 1 1 1 6 2
R6 43 4 2 1 9 4
X4 FE | —fi% | THET =R € B & @&
AE| BE | F8 | B E | M B |zt | B | &REK | 0T |FALA|HEC-|HERE[MAESEK
R7 18 21 57 2 7 1 1
R6 22 22 52 1 6 1 1
X4 EEEEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7 1
R6 1
5 BB EKR )
X4 Axt H oW # EH k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 30 12 39 50 13 1 10 5
R6 29 13 50 50 3 11 4 3 6
6 F1HBEDERANFEEIRR )
X4 B | B2 | Bf | B | XER | RED | EF |(mesas| BEH | —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 20 42 20 9 8 3 8 12 14 24
R6 33 31 27 2 15 7 9 7 1 12 25
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 2 5 10 17 19 24 12 14 103
i [5] 5 1 1 1 4 3 6 6 22
ZERE 1 1 1 1 2 6
AGE 3
HERE 6 1 3 1 2 2 4 1 20
HITE 4 1 1 2 2 5 4 4 7 30
ZDith
& & 5 8 4 11 18 21 28 36 26 24 181




[10] #THD3EHHIR:

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 20 13 24 57
R7 % & 1 1
ass 24 14 24 62
SLEl 2 5 7 14
" &% 20 17 21 58
R6 % & 1 1
ass 20 17 23 60
SHEH 6 3 9
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 44 13 R7 14 12 2 6 1 26
R6 37 21 R6 13 10 2 11 1 18
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
X4 = B
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 12 3 1
R6 12 6 4
X4 FE | —f% | HET =R € B & @&
AE| BE | F8 | B E | M B |zt | B | &REK | 0T |FALA|HEC-|HERE[MAESEK
R7 9 5 23 1 3
R6 8 7 19 2
X4 EEEEE BEE
ZEIL|ERIL A B | K mERR | R cease| I | FAELE| EA [EAZB[ZOM
R7
R6
5 BB EKR )
X4 Axt H oW # EH k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 14 3 15 18 4 1 2
R6 13 4 19 16 2 3 1
6 F1HBEDERANFEEIRR )
X4 A | R | BE | BF | XER | RED| EF5 |(wmsas| BEH | —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 5 19 8 4 3 1 2 6 1 8
R6 10 8 13 2 8 2 5 4 6
7 IRRERISEISE A)
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 1 5 6 3 8 2 5 30
i [5] 5 1 2 2 1 6
ZERE 2 2
AGE 3
BHEE 3 1 2 1 1 1 2 11
HITE 1 1 1 2 3 2 4 14
Z Dt
& & 1 3 2 2 8 8 7 14 7 11 63




[11] BEHDIESHR:

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 8 4 3 15
R7 % 5
ass 10 4 3 17
SLEl 4 1 5
" &% 3 4 4 11
R6 % =
ass 5 4 5 14
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 11 4 R7 1 3 6
R6 9 2 R6 1 1 7
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
X4 = B
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 7 1
R6 3
X4 FE | —fi% | THET =R € B & @&
AE| BE | F8 | B E | M B |zt | B | &REK | 0T |FALA|HEC-|HERE[MAESEK
R7 2 3 2
R6 2 1
X4 EEEEE BEE
ZEIL|ERIL A B | K mERR | R cease| I | FAELE| EA [EAZB[ZOM
R7
R6
5 BB EKR )
X4 Axt H oW # EH k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 2 5 2 2 4
R6 1 1 3 6
6 F1HBEDERANFEEIRR )
X4 B | B2 | Bf | B | XER | RED | EF |(mesas| BEH | —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 1 5 4 1 1 3
R6 1 1 2 1 4 2
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 1 3 3 3 2 1 13
AEE 1 1 1 3
ZERE
AGE3
BHEE 1 1
HITE
Z Dt
& & 1 2 3 3 4 3 1 17




[12] B EHTD3ZEEHRI

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
" &% 1 1
R6 % =
ass 1 1
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 1 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
X4 3] B
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R € B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6 1
X4 REBHEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6 1
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6 1
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[13] =FTHhO3ESEHRS

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 2 3 3 8
R7 % 5
ass 2 3 3 8
SLEl 2 1 3
" &% 4 2 2 8
R6 % & 1 1
ass 3 3 3 9
SHEH 1 3 3 7
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 7 1 R7 1 1 4 5
R6 8 R6 1 2 8
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 3 1
R6
X4 FE | —fi% | THET =R € B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7 1 2 1
R6 4 1 3
X4 EEEEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BB EKR )
X4 Axt B W #H H k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 2 1 3 2
R6 1 1 1 2 1 2
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 4 1 1 1 1
R6 2 2 1 3
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 1 1 3 1 6
AGE3
ZERE 1 1
AGE 3
BHEE 1 1
HITE
ZDith
& & 2 1 3 1 1 8




[14] SRFIHT 0328 5 SIS

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 118 | 12R | & &t
# &% 2 2
R7 % 5
ass 3 3
SLEM 1
" &%
R6 % =
ass
SLEl
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BecHE | ZKE | EFE = A
R7 1 1 R7 2
R6 R6
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
E2 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 485 | 488
R7 1
R6
X4 FE | —fi% | THET =R B &5 &
AE| BE | fh@ | B E | M B | zofh | B | =X | 0T HEAVs-|HEHE |2
R7 1
R6
X4 EEEEE
2 %8011 SAIL K| A ERR | B%RA B | cemsuz| T2 | FRELE| EE |REEZSRE
R7
R6
5 BB EKR
X4 Axt H oW # EH k=<1 in]
Bl | EEER| B 3 |HeVE| Bue | AN | EFE | zot | B
R7 1 1
R6
6 F1HBEDERANFEEIRR )
X4 BA | R | B8 | B | XER | RED | EF |mesos| LR HITE
TEE|THER|FIFE| T8 | 22 | HBF | 888 | 2% | ER oM | DER| & B
R7 1 1
R6
7 IRRERISEISE A)
X4 201% | 20~ | 25~ 60~
FH | BERE| RFE | 24 | 295% | 30m K| 40| 50t | 64i% &
PHeRE 1 1
AGE:S 1 1
ZERE
AGE3
BHEE
HITE 1 1
ZDith
& & 1 1 1 3




[15] HETO3@ESE SRS

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 16 12 13 41
R7 % & 1 1
ass 18 14 15 47
SLEM 6 3 7 16
" &% 26 13 17 56
R6 % &
agE 30 13 22 65
SLEl 9 3 9 21
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 27 14 R7 7 4 1 6 1 13
R6 38 18 R6 6 7 6 11 1 28
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
E2 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 5 3 3
R6 9 4 3
X4 FE | —f% | HET =R € B & @&
AE| BE | F8 | B E | M B |zt | B | &REK | 0T |FALA|HEC-|HERE[MAESEK
R7 3 6 19 2
R6 4 12 21 1 1 1
X4 EEEEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 EMFERI AR EKR )
X4 Axt H oW # EH k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 7 2 10 18 1 3
R6 6 3 16 22 6 1 1
6 F1HBEDERANFEEIRR )
X4 A | R | BE | BF | XER | RED| EF5 |(wmsas| BEH | —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 6 4 4 2 1 1 4 4 8 7
R6 10 13 7 3 1 5 1 8 8
7 IRRERISEISE A)
X4 201% | 20~ | 25~ 60~
FH | BRE| RXE | 245 | 2958 [S0RmMR 40T |50 K| 64 =@\ | & §
PHeRE 2 2 3 6 8 3 5 29
i [5] 5 1 1 2 2 1 7
ZERE 1
AGE 3
BHEE 1 1 1
HITE 1 1 1 2 2 7
Z Dt
& & 2 1 4 5 4 9 10 5 8 48




[16] KHEHD3ESHIR

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 3 3 5 11
R7 % & 1 1
ass 3 2 6 11
ILES 1 1
" &% 2 1 1 4
% &
Ro ass 2 1 2 5
SLER
2 BRAIFEEKR ) 3 BREXBEREERKR )
X5 BRE | ®HE X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 9 2 R7 4 1 2 2 3
R6 3 1 R6 1 2 1 2
1. RBRAICHYTILEENE, E2UBFE LA BRER.
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
E2 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 2 1
R6 2
X4 FE | —fi% | THET =R € B & @&
AE| BE | F8 | B E | M B |zt | B | &REK | 0T |FALA|HEC-|HERE[MAESEK
R7 1 2 3 1 1
R6 1 1
X4 EEEEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BB EKR )
X4 Axt H oW # EH k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 4 1 4 2
R6 1 2 1
6 F1HBEDERANFEEIRR )
X4 B | B2 | Bf | B | XER | RED | EF |(mesas| BEH | —F HTE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 2 5 1 2 1
R6 1 1 1 1
7 IRRERISEISE A)
X4 201% | 20~ | 25~ 60~
FH | BRE| RXE | 245 | 2958 [S0RmMR 40T |50 K| 64 =@\ | & §
PHeRE 1 1 1 2 1 6
AGE:S 1 1 2
ZERE
AGE3
BHEE
HITE 2 1 1 4
ZDith
& &t 2 1 2 2 4 1 12




[17] JIZHET D 3Z:@E S SR

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[18] SEEBHT O 3Z:@ 55 &50IR

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[19] EFEHETD3ESHR

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[20] TETHDIZBEBHCKS

1 BRISEEREERR

(FHM7TEIAXR)

X5 1A

2R

3R

4R

5A8

6A8

7R

8A

9H 108

118

128

P
[=}

Bt

# & 1

6

% &

R
! faigE 1

SLERS

# &

%t &
R6

aigE

SHLES

2 BRAEERSR

(53]

X4 B

wE

R7 3

R6 6

B ERRI R KR

ERRBEREENRSR

(53]

X%

H11E

EEED

TR

EFE| FH#

=&

R7

1

1

2

3

R6

1

2

1

2

E1:

F2. BEHELF, FEERE (RAUL)ENS,

BERSICHYUTILNEELNE N F2UFEH LGOI HHH

(53]

3|

B

25

54

184

186

187

191

261

314

375 431

432

485 488

R7

R6 7

FE
HA5E

"
N

T HT
(REE!

i
i

T Dt

B

k. Tot

B E

B % &

WL |[FFAEA

A5

HEMBEME L %

¥

B HEE

BEE

S

HILXH

KHEEER

BRI

CERRZE

TiE

TRELE

EEZIE[Z DM

5 EHBRANEEKR

(53]

A%F
x/\
X5 =

E W M H

EEEHE

B

H&UVEE

B LAY

AT

T

Z Dt

EAi]

B (5 &

R7 1

R6 1

6 F1UFHDERIREKR

(53]

0Pz

IZ/\
7 TEE

%%
RHEER

Bt
TER

RER
e

BEH

ER

el

R7 3

1

R6 1

1

7 RERIEGEEHK

= e

Bk

207%
xR

20~
247

25~
297%

30

40

50

60~
64%

op
ul

PadH =

1 [R5

Z e

AGES

ELES

HTE

ZDfts

& &t




[21] EHTOZBEHK;

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
# &% 1 1 2 4
R7 % 5
ass 1 1 2 4
ILES 1 1 2
" &% 3 2 3 8
R6 % =
ass 3 4 4 11
SLER 2 2 4
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 3 1 R7 1 1 1 2
R6 6 2 R6 3 1 1 2
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 1
R6 4 2
X4 FE | —fi% | THET =R € B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7 1 1 1
R6 2
X4 EEEEE BEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BB EKR )
X4 Axt B W #H H k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 1 2 1
R6 3 2 1 1 1
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 1 1 2
R6 1 3 1 2 1
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 1 1 2
AGE3
ZERE 1 1
AGE 3
BHEE
HITE 1 1
ZDith
& & 1 1 1 1 4




[22] ZEATHD3ESHIR

(FFITEIAX)
1 BRIEEHEEIRR
X5 18 2H 38 48 58 68 78 8A 98 108 | 11A | 128 | & &t
# &% 4 4 3 11
R7 % 5
ass 4 4 3 11
SLER 1
" &% 7 2 9
R6 % =
ass 9 2 11
SLER 5 5
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H X5 | $17E | BcHE | —GE | EFE | FH | anE
R7 9 2 R7 1 3 4
R6 7 2 R6 2 1 1 5
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7 3 1
R6 5 1
X4 FE | —fi% | THET =R € B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7 1 6
R6 2
X4 EEEEE BEE
ZEIL|ERIL A B | K mERR | R cease| I | FAELE| EA [EAZB[ZOM
R7
R6
5 EMFERI AR EKR )
X4 Axt B W #H H k=<1 in]
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7 1 1 3 4 2
R6 2 2 4 1
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7 2 2 1 1 1 1 2 1
R6 4 1 1 1 2
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
PHeRE 1 2 1 2 1 7
AGE3
ZERE
AGE3
BHEE 2 1 3
HITE 1
ZDith
& & 2 1 3 1 2 1 1 11




[23] ZMEFRTDIZBEHK

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
" &% 1 1
R6 % =
ass 1 1
SLER 1 1
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 1 R6 1
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6 1
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6 1
6 F1ILUEEFDERINFEERKR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6 1
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[24] HERTOIZEEHIK;

1 BRISEEREERR

(FHM7TEIAXR)

X5 1A

2R

3R

4R

5A8

6A8

7R

8A

9R

108

118 128

& &t

# & 1

1

% & 1
R7

1

faigE 1

1

SLERS

# & 1

%t &
R6

aigE 1

SHLES

2 BRAEERSR

(53]

X4 B

wE

R7 1

R6 1

4 ERBIFEEKTR

ERRBEREENRSR

(53]

X5

H11E

EEED

TR

EFE

Ft

=&

R7

1

R6

1

1

1

A1 BRERDITHKYATILNEENE . F2YUFH Lo LEHHE
F2. BEHELF, FEERE (RAUL)ENS,

(53]

25

3|

B

54

184

186

187

191

261

314

375

431

432 485

488

R7

R6

FE
HA5E

"
N

T HT
(REE!

i
i

T Dt

B

k. Tot

tH &€ B & &

WL

EATEA

A5

HE

il

¥

B HEE

S

HILXH

KHEEER

BRI

CERRZE

TiE

TRELE

EREZE

B¥EE
Z Dt

5 EHBRANEEKR

(53]

A%F
x/\
X5 =

E W M H

EEEHE

foit
R

H&UVEE

B LAY

AT

T

Z Dt

B
B R

5| =

R7

R6 1

6 F1UFHDERIREKR

(53]

0Pz

IZ/\
7 TEE

%%
RHEER

Bt
TER

B
Tl

RER
e

BEH

ER

T Dt

el

R7

R6 1

7 RERIEGEEHK

= e

Bk

207%
xR

20~
247

25~

29i% | 30k

40

50

60~
64%

oy

PadH =

1 [R5

Z e

AGES

ELES

HTE

ZDfts

& &t




[25] [Ris ) SHT D3 EFHIK:

1 BRISEEREERR

(FHM7TEIAXR)

X5y 1H 28 3A 47 5A 6A 7R 8A 9A 10A 118 12 | & &t

# & 1 1

% &

R
! faigE 1 1

SLEM 1 1

# & 1 1

%t &
R6

aigE 1 1

SHLES 1 1

2 BRAEERSR ) 3 BERERBEHRELEKR )
X5 BE | &MHE Ko |75 | BGE | —HRE | 555 | F4 | ShE
R7 1 R7 1
R6 1 R6 1 1
E1 BERSICHRETILBENE. B2UBEL BRI,

4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )

2\ = B

[ X
= 9 54 184 186 187 191 261 314 375 431 432 485 488

R7

R6

N FE | M | THET tH &€ B & &

B

k. Tot

wAE | RiE | HE

e
[
3t
[

D1 Bk | I |FARA|HE - | HERRE|EES &K

HEBEE BEE
ZEERL| ALK E| XBERRE | SR CE|crase| STFE | TAELE| JEA [RA=B[ZOM

5 BMFERBIRERR )

Bl | EmEEE| 3 &G | Bk | AR | EFEE | ot | B | | =
R7 1
R6 1

o
R

6 F1UFHDERIREKR €:3)

X4 A | B2 | 8% | B | XER|FED| E5 |wwmsas| BEHF | —K HITE
FTIEE | THZ | TIE| TE | R | HBE | B8 | v83% | ER | TR | Z0M | 0ER | & B

R7 1

R6 1

7 IRRERISEISE N
X4 20%% | 20~ | 25~ 60~

FH | BRE| RKE | 245 | 295 (30|40 | 50mL| 645 | =
MHERE

AGE3
ZIRE
e
HERE
HITE 1 1
Z D

& &t 1 1

il
=
it
op
=110




[26] @XHTD3ZBEHK;

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[27] B/ BHETD3ZEFHIK

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[28] HEXF D3R BEHIR;

(FFITEIAX)
1 BRI EERFEEIRR
X5 18 2R 3H 4F 5H 6 A 7H 8H 9H 108 | 11A | 128 | & &t
* %
R7 % 5
ainE
SLER
* %
R6 % =
agE
SLER
2 BRWRIFEERKR ) 3 BREXBEREERKR )
X5 B | &"H Ry | $17H | BE | —HE | 555 | FHE | 5HE
R7 R7
R6 R6
1. SBRAICEUTINEENE . B2UBEE L BRI,
4 ERBIFEEKTR F2: EEELEEEERE RALUELENS, )
5 = i
9 54 184 | 186 | 187 | 191 261 314 | 375 | 431 432 | 485 | 488
R7
R6
X4 FE | —fi% | THET =R B E B & @&
MAE| BE | #8 | B 8| M 8| T | B | TR | T |FARZA|BEL-|HERE|MES X
R7
R6
X4 REBHEE BEEE
S4XEAIL | 8L KR K ERR | SRR | mmsie| ST | FRELZ| EH |EBAZRE|Z0#
R7
R6
5 BMFERBIRERR )
X4 Axt B W #H H Bl
Bl | EmEEE| & B | HeVEE| B | GiRes | i | zofh | B | 5 =
R7
R6
6 F1HBEDERANFEEIRR )
X4 BiA | B2 | 9% | B | XES|RED| EF |[wwsos| BER| —F HITE
TEE | THER | TER| T@ | 2 | HBE| B8R | w25 | ER | FE=L| 20| 0ER| & B
R7
R6
7 IRRERISEISE A
X4 201% | 20~ | 25~ 60~
T | ERE| R | 245 | 29% [0 |40F R |50 64 | BT | & 3
MHERE
AGE3
ZERE
AGE3
HERE
HITE
ZDith
& &t




[29] =EERROD3ZEE=EHR

1 BRISEEREERR

(FHM7TEIAXR)

X5 1A

2R

3R

4R

5A8

6A8

7R

8A

9R

108

118 128

& &t

# & 1

3

% &
R7

faigE 1

SLERS

# & 1

%t &
R6

aigE 1

SHLES

2 BRAEERSR

(53]

X4 B

wE

R7 2

R6

4 ERBIFEEKTR

ERRBEREENRSR

(53]

X5

H11E

EEED

TR

EFE

Ft

=&

R7

1

1

R6

1

1

A1 BRERDITHKYATILNEENE . F2YUFH Lo LEHHE
F2. BEHELF, FEERE (RAUL)ENS,

(53]

25

3|

B

54

184

186

187

191

261

314

375

431

432 485

488

R7

R6

FE
HA5E

"
N

T HT
(REE!

i
i

T Dt

B

k. Tot

tH &€ B & &

WL

EATEA

A5

HE

il

¥

B HEE

S

HILXH

KHEEER

BRI

CERRZE

TiE

TRELE

EREZE

B¥EE
Z Dt

1

5 EHBRANEEKR

(53]

A%F
x/\
X5 =

E W M H

EEEHE

foit
R

H&UVEE

B LAY

AT

T

Z Dt

B
B R

5| =

R7

R6

6 F1UFHDERIREKR

(53]

0Pz

IZ/\
7 TEE

%%
RHEER

Bt
TER

B
Tl

zE

RER | RED
B

BEH

ER

el

R7

1

R6

7 RERIEGEEHK

= e

Bk

207%
xR

20~
247

25~

29i% | 30k

40

50

60~
64%

oy

PadH =

1 [R5

Z e

AGES

ELES

HTE

ZDfts

& &t




